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DA, (CBCS) DEGREL LXAMINATION,
NOVEMBER 2022.

Sixth Semester
[eonomics — Core
MACRO ECONOMICS — 11
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10x 1 =10 marks)
Answer ALL questions.

Choose the correct answer :
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The extra labour for which the labourer receives 1. Senallen sapmiing (pseilen_ Sinreftudd Glseyb

nothing is called as —————— by Karl Marx. &)
(@)  Surplusvalue (b) Surplus labour (<) pagargdlen G nbflene wyssssner
() Capital () Net profit (<2) @oflflenes psia) pri o
i (@) syref geiey Bl b
faemiGLn QUIEBETTETIEMS FHSOT SMDEHTTSL .’ () Qu(peuMLl
SRGHIH? According to Keynes one of the important
(=) @uen (=) et determinants of investment is
r
@ prens (") mha ‘ (a) marginal efficiency of capital
Ricardo divided the economy into how many (b) marginal propensity to consume
sector? (c) average propensity to consume
(&) Two (b) Three (d) income
(¢) Four (d) TFive 5. Senéflem Garc_ur@ - BTRSEE5E
QummbgID.
aremtul L (1pseaH eTeTLg (3) Qanmzrdw
(=) Qarusms srrpslhEED (&) euer(HLd
(<) peener sTiBS (HEESMD (@) euerihs (pswrailssiel

FF 5 T T
(@) () oHmID () (™) SieangSbeEd .
(/) Bevea ergieyiidvened Keynes theory is applicable to

countries.

Induced investment is f (a) underdeveloped

(a) Profit oriented (b) Welfare oriented (b) developing

(c) Both (a)and (b) (d) None of these (©  advanced capitalist
(@ all
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() @enan olenandgih

According to Keynes unemployment is caused by

(2)  low consumption

() deficieney of effective demand

(c)  population explosion

(d) all of these
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Karl Marx rate of profit 'r' is

S
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(e) v (d)
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10.
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(wa)  aibyyadla (o) cpgeunatig g

(o)) Garndliadliy (ry  argyapfldens
Marxigm is against, for —— -
Capitalism

Nane

(1)  Communism (h)

(¢) Socialigm (cl)

afliflanas  Cenrd  GCmrdtens ey sraismd

I NI\ Y ANTRLOE AT

(=21) smpa Hlene () Lemralibmin
(@) Gube alidmi (rv)  wby flenw
[ixpansionary monetary policy i3 adopted
the period of

(a) recession (b) inflation

(¢) stagllation (d) peak

Gufluseb GlarreanmuSlear

G irdaii

Glrmam ey,

(@) Wy Geuwmaamiili
(<)) [Hlenavuairenr aflansy
(@) Glurgpenmgity aueriris)

() Giopaaflus coenahgin

Page b

gl

during

(phElL

Code No. : 10185 B



Important abjective of maero economie policy
(@ Mull employment

(b)Y Price stability

@) Economic growth

(d>  All the above
PARTB — (3~ 5=295 marks)

Answer ALL guestions choosing either (a) or (b). &
Each answer should not exceed 250 words.

1L (=) Aezddmps deorsgd  sdsuugurea

uflGw eunib - eflerégs.
Rent is differential surplus earned by land -
Explain.

Or

(=) MaarmGLmeller udlieysd
e Camearadr wWrenau ?

Gam_umiger

What are the assumptions of Ricardian
theory of distribution?

12, (=) MElsgn MECs@1o @ e Cuiwsmen
Gsm_irbenar samis. )
State the relation between MEI and MEC. /

Or
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14.

(e=2,)

(=2)

(<)

(<34)

(<)

el v Ler . I J . =, "
sTelaunm anigalgih apEai_eni_ frmrm?,‘ﬂ::—.»_ﬂ;g;?

How rate of interest  determines the

investment?

uaneiss E)e_Qeuat @iz

550G GHuy suanga.

3
Write a note on inflationary gap.

Or

Qumsal erempred ereens @51 T HCaraTEeT
wimeneu ?

What is  multiplier? What are its
assumptions?

&TievLnmiréender S(FSHEsaman peden
Gumpaflw e @y rsafler EME5IE5ER8T
@ubGs.

Compare the Karl Marx ideas with modern
economists ideas.
Or

amrawrisallar  Qurmersnys EHEEISS@HEE
TEHITE FMpLILELL GODUTHSEET WTaney ?

What are the criticisms leveled against
Marxian economic ideas?
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18.
) wers Qandies aeipnd daTery  oime
Crrésmnsdr wnevai?
What is monetary poliey? What are its
objectives?
Or
(&) e Briyes Qeons EDE& TEPSHIS.
Write about 'pump priming'.
PART C — (5 x 8 = 40 marks) '
Answer ALL questions choosing either (a) or (b). 19
Each answer should not exceed 600 words.
=) worrssller wdirey  GsmiumiesL  Spermiia
Qews.
Critically evaluate DMarxian theory of
distribution.
Or
(=) sracrier urbl (s Camium e ellaurd.
Discuss the Kaldor's theory of distribution.
(<) fpesenDd CETDHIL T ? ST CUMSHEMET
HarsEs. 20.
What is investment? Explain its types.
Or
(=) fposwisas Siuralsgh arpaflaamer s,

Examine the determinants of investment.
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(1)

(<)

(<2b)

(<=1)

(NI U o - s . o ;
16 g b sEndiE farallar Qurpearmsmrs

Spaaneacr () ITHBEIOT eTarLmenan clilar ds .

Fixplain  the applicability  of Keynes

cconomics to under developed eountries.

Or

SevranS bt Geonblena Gauenen SuUMUILIL&F
enfblenevd amhfener aflemrd @,

Tixplain under

the Keynes notion of

employment equilibrium,

aés wHUL smpHear Hpamile] Qs
Critically evaluate the concept of surplus
value,

Or

ST DTS e 6t B(HEE Saamer Qgmeranio
Qummeiiucd gyirsea e & (&I &6 (@Th L6t
UGS,

Compare Karl Marx views with classical
economists views.

Qurmermsny eeridflle Hfs Qsmdrevsulen
EEGHGHLTRRIGEE LTS

Analyse the role of fiseal policy in economic
growth.

Or
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(<) LIS @ anerensul e Ss(l{]chtl]fr;ﬁil' WIren e 7
<squhmlen GeuwidunBaaner e @s.

What are the instruments of monctary
poliey? Explain their working.
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